STXR
RE7O-FE+ AR

& om R
a9—F K98333 K98335
I, MBC603WE MBCG603WE-OL
a—F K98337

X MBC1203WE
mit#sEsX UBUGO3W-02

ot e e

2RAEF—R4A4T

« BB ENDELE, IRl mE R BN 2 ER<IZELY,
ﬁfﬂnﬂnnw—nm-.li FEHYMRTEDADEBmMHHIET,

= tIHI 7?7 O UST v o






D T3EXIZDNT

AEBRmOUIGERICOUNT

GE, FRUHEBEZ ZERE < 7ZE 0,

—

SISICIEIcE
S

[y

20 B

ﬁ

S

5=

R

jix3

o 5o Eo

PR

O
)

B O

XEREREEXIHRRRBE LT, FRICREA
DHR—LTL—FIRRTLTLET,

2. o =], [ ]z BFoztakLT
BYET,
[— ] v ame, fAAENTODEEN
BB 2 1 L0 H7p 20
[ 7 v A fhicE Eh 2 e &
TS L2V ED S,

3. RHE SR EIE2 > T 5 b o, mHEE
i EIEV IR Y ET O T, 20O
B AR STV S s E T

4. fAE SO EICE, LD -y NRFEDO R
DELLNH Y £9, ZHLOBRIT TR EE
VW, EleEbimE bSOV
NRGED I D X I & S/ TV & £,

KELAIT S R EIC LY PERSIBIR - MEE2 AR
FTHZLERBHD ET,

FIET ST G AEMIE R A2 B B VKD < 2 &0,
MHBELLS 2 BEVICR D £9 & RO
PEREICHET DL AR 0 £7,

Z OB OFHERER O G ER ) X, ®
Ef UV H%9OETT, =720, HEERANTH-
Th, BRSSO W TR &% TR ST
WlE<GEe D0 £,

FHAEED b O AEREFIR B 1 F ERL OIS E R TR
TLETH, HEFERRIEEZ THoTH, it
KD ZHEEEN B o e A IR X Ol 12>
TR SETWEREEET,

REEIZDULNT

PEHE D UGBTI DFR &£ 720 £4 DT, 1T
TES W,

gOdE L7255 B Pl B SR~ S 72 IE LUME
MBI E B2 D5 81E, BRIEOIRIN 2D £4 D
TITEELSIZSN,



MBC603WE-1203WE d&ETJTO—KF* v X4

Yo7

AHER| W o’ B il i A i A% fii
1 |1453380000 |74 AZ : R 1
2 1453390000 |F 4 A7V ; L 1
3 | NNCO8 FAarF v b AFr M8 8
4 |1128463000 027 7L —RCP R 1
5 | 1128473000 o771 —RKCP ;L 1
6 | 1453990000 g — 7L —RCP; R 1
7 11454000000 va— k7L —FCP; L 1
8 | 1453400000 AFY 7 H2., 0X14%X65 4
9 |1453410000 HA K 4
10 | BC08025 Rk AFr M8X25 4
11 | NNCO8 JAarF v s AT MS 8
12 | WRSO8 EIHHT R AT M8 8
13 | 145342000 |~~~ R CP 1
14 | 04408620IM | AT —HRNL & 1
15 | BSZ08016 af AR 7 M8X16 1
16 | NSPO8 afHATYV T Fy s 4 M8 1
17 | 1119971000 TuTs s HCP 1
18 | BRS08020 B Fx<IB AT M8X20 4
19 | NS08 Fv b ZFL 13¥a2 MS 4
20 | WSSo08 NEFHFX AT 297 MS8 4
21 | 1453450004 FL—k 2
22 | BC08020 ALk AFr M8X20 2
23 | NS08 Fv b ZRFL 13¥2 MS 2
24 | WSS08 NEPHEX AT 237 MS8 2
25 | 0328581000 AR (B) 2

-1-




MBC603WE:1203WE & JO— KX+ X4
Yo7
AHES| B M F B B w4 R [EES fii
26 | 1453460000 Ry FL—RCP 1
27 | 1453480004 FlL—h 2
28 | BC10045 RLE Z2F M10X45 4
29 | NS10 Fvh ZAFr 132 M1O 4
30 | WSS10 NEPFHR ZAFr 297 M10 4
31 | 0822960000 Yyt 10. 5X3 6
32 | 1594090000 TIAHTL— k 2
33 | 1128620004 TOT =4 1
34 | 1128630004 AN 1
35 | BC12020 ALk Z2Fr M12X20 1
36 | WSS12 NREXYPHF AT 237 M1 2 1
37 | 1128600004 ¥ NFT7HA K L 1
38 | 1128610004 Y v N T7HA KR 1
39 | BC08020 ALk AFr M8X20 4
40 | WSS08 NEPHEX A7 237 M8 4
41 | WRSO8 EIYPHR AT M8 4
42 | 1453490004 VY HCP ;L 1
43 | 1453500004 Y v HCP ;R 1
44 | ONB6 JY)—ZA=v7F)L B M6 2
45 | WS06 NEYPHR 237 M6 2
46 | BC08016 ALK AT M8X16 2
47 | WSS08 NREXYPHR AT 237 MS 2
48 | 1301000000 Ty 2
49 | 1557560004 7—ALCP ; 1 1
50 | 1453700004 777 hCP 2
51 | ONA6 JN)—2A=v 7V A M6 3
52 | BSZ10025 afERLE 7T M10X25 4
53 | NSZ10 afxFvyhk 8 2¥=2 M1O0 4
54 | WRAL0 eIV xr M10 4
55 | WSAL0 NEXHFHX 33d7 M10 4
56 | 1381990000 7y RCP 2
57 | 079422000M TJH—2J7TK;10X40 2
58 | 079423000M EY; 10X40 2
59 |NS10 Fvhk AT 132 M10O 2
60 | 1383590000 ny Rz K L 2
61 | WSS10 NRYPEHF 27 297 M10 2
62 {NS10 Fvh ZFr 13¥a2 M10 2
63 | NSI0L Fvkr AFr 1v= L M1O 2
64 | 145373000M =B 2
65 | NSZ10 affHZFyh 8 232 M1O0 2
66 | 000085200M |-N—XEL ; 8X1. 6 2
67 |WRAL0 I HF M10 2
68 | 079422000M T4 —27xTK;10X40 2
69 | 079423000M L 10X40 2
70 | 1602630000 71 —FASSY 1 | A Fvar RI~T56F
71 | 1296961004 07 7L —RCP ; RAA~EY 1 | A7y ar
72 | 1296971004 07 L —RCP ; LAA~EY 1 | A7var
73 | 1454040004 va—hF7L—FKRCP ; REA~EY 1 | A7y ar
74 | 1454050004 va—hF7L—RCP ; LEA~FEY 1 | A7y ar
75 | BC0O8030 ALk AFr M8X30 4 | FFvav

-2-




MBC603WE-1203WE d&ETJTO—KF* v X4
BT

AHER| W o’ B il Hi 4 i) A% T =

76 | 1602641000 Fuars 7 HASSY 1 | AT var RIT~81ft
77 18002610000 Iur R AAETIY 1 | A7 var

78 | 8002620004 EA~ETNY 2 | ATvav

79 |BJ06015 H+I7F%Fvy vy 7B 10. 9 M6X15 6 | AT ar

80 |NS06 Fvh RAFr 132 M6 6 | A7 av

81 | WSS06 NREXYPHF AT 237 M6 6 | A7 av

82 | 1602620000 TYT—HASSY 1 | AFvar R83~89ff
83 |[8008530004 TIOT—HCP 1 | AT ar

84 | 8008571000 % 1 | AFvar

85 | WSS12 NREYPHR A7 237 M1 2 1 | AFvar

86 | PS080032 AFY LT 8X32 1 | AT var

87 | BC12040 ALk 27T M12X40 2 | ATFvav

88 |[NS12 Fv b AT 132 M12 2 | AFvar

89 |1413110004 AN 1 | AFvar

90 | 1557570004 7—ALCP; 2 1

91 |KBB-2515B H—R RTAXRTY T B 25X28X15 | 2

92 [ 060807100M Ty 1

93 | 044214301M vy 25X1. 0 3




MBCG603WE*-1203WE

FYHRYI R

hE T O— KE v R4

AHER| W oM’ B il i 4 i) (EE T
1 |1128241004 YRy T A 1
2 | 1257870004 Xy v/ 1
3 | 1128260004 Xy v/ 2
4 | 1128270004 7L —k 2
5 | BSPZ08025 aAFFSWYFHRNLE 7 M8X25 14
6 | BSPZ08020 AHXSWYFAR/LE 7 M8X20 8
7 | BZ12035 ALk 8. 8 M12X35 3
8 | 1420880002 RAYLFF ;M4 X50T 1
9 | 1420870002 SR E=F  M4X16T 2
10 | 1484810002 NAULFY ;22T 2
11 | 1484820002 ANXAYLFY ;12T 2
12 11128300002 ¥ 7k 1
13 | 1128311002 ¥ 7k 1
14 | 1257881002 T¥ 7 bk 1
15 | 1182620002 vy 7 b 2
18 |KFBO7070250 |~A =27 ¥%— X</ TXTX25 4
19 | J6007LLU R—=NA_X7Y 7 6007LLU 1
20 | J6OO9LLU R—=NA_X7Y7 6009LLU 1
21 | J6206 R—=NAXT7TY7 6206 2
22 | J6205 R—=NAX_XT7TY 7 6205 2
23 | J6005LLU R—=A_X7Y 7 6005LLU 4
24 | D30477 FANT—L D30X4TXT 2
25 | D356210 F A —L D35X62X10 1
26 | DHC062 CHHNAT TF 62 2

-4 -




MBC603WE-1203WE
FYHRYI R

hE T O— KE v R4

AHER| W M’ B il i 4 i) [EE fii
27 | DHC052 CHENADU TF 52

28 | DHC047 CHEZ AU TF 47

29 | DC025 CHZ AU v/ 25

30 | 1257860002 77—

31 | 1257800002 HI—;25. 5X16. 5

32 | 1128360000 Fy o7

33 | 085801200M HAvawr )y, M20X1

34 | 1182630004 7Y CP

35 | PS050040W ATV T8 XTIy 5X40

36 | PS0S0040W AFY TR XTIy 8X40

37 | PS100040 RAFYLTEY 10X40

38 | 1488850000 777 CP ,391F
39 | ORP020 oOV>7 ;P20

40 | 000338000M 7227 M10

41 10003390000 NyFr M10

4210008230000

PICHN—; 1

43 | 000825100M

Vo7 S

44 10000963000

PIC¥vy>v7 ;35

45 | WRCA20

EI AR allF M20

46 | 078908400M

NAvy7Fy b ;M30X1. 5

47 10666420002

#Z7—;30. 5X22

48 | BSZ10025 afHARLE 7T M10X25
49 | 075290100M Jvix ;10

50 [ WSA10 NEXHFHX 337 M1O0

51 | DCS030 CHHENAY RFv Y7 30

NN N[ === === == =N [— W DN —|Do|Do|w

-5-




MBC603WE:1203WE HEJO—KF+ X4
FyYRvI R

o

12891-8 31

18 56

13 @{@/@@/ng

@/

AMEE] & o /B =B i 4 R (R0 fir
52 | D35477 FANT—L D35X4T7TX7T 2
53 | SI1303517 AY—7 SI130X35X17 1
54 | 1257810000 HF—;25. 5X8 1
55 | WSA12 NXY AT 337 M1 2 3
56 | 0951061000 A 25, 5X0. 2 -




MBCG603WE*-1203WE

PRIO—FXvr R4

TL—L Ry H TR FIAF FYREZREZ U

VIEW A

za\g

AHER| W oM’ B il i A i A% T

1 | 1557550004 ZL—ACP 1

2 11606050000 gU—Y /b ASSY ; I, I 2 | J3-4-5fF
3 |NZA24150 FvF 8 132 M24XP1. 50 2

4 | wsA24 NEXPFHx 337 M24 2

5 | WRA24 eIV TR M2 4 2

6 | 1606060000 Ny XU 27 EASSY s I, 10 1| RL7fF
7 | 000088100M (| X—ZE> ; 19X3 1

8 | 1627850000 Fyv7” 89. 1X5. 5 2

9 | 1453660000 TAHTL— b 3

10 | 1453180000 K23 600 1

11 | 1453200004 Ry 7 CP 1

12 | BC08030 ALk Z2F M8X30 4

13 | NNFO8 75 VA nrF v b M8 4

14 | 0328581000 # % (B) 8

15 | 1453230004 7—ALCP ; F 1

16 | 1603230004 7—ALCP ; L 1

17 | 1603250004 7—ALCP ;R 1

18 | BZ16040 ALk 8. 8 M16X40 6

19 |NZ16 JFvh 8 2v2 M16 6

20 | WSA16 NEPFHEX 337 M16 6

21 | 042322200M Tyiv ;16 6

22 | BZ20065 ALbF 8.8 M20X65 2

23 | 1506681004 | /314 FCP 1

24 | WRA20 eI TR M20 2

25 | 1147391000 TILSL— |k 1




MBCG603WE*-1203WE

PRIO—FXvr R4

TL—L Ry H TR FIAF FYREZREZ U

AHES| B oM F B il w4 PR [EES fii
26 | 111993100M v 1
27 | 000738000M JoFEy ;6 1
28 | BC08030 AL Z2Fr M8X30 8 | 120007
29 | NNFO8 75 VFAuarFy b M8 8 | 120001
30 | 1281310000 Ty ; 9. 0X2 16 | 12000/H
31 | 1453190000 P7HEyN; 600 1 | 12000 EA » 23
32 | 145355000 | #F T ICP 1
33 | RBTC08025 REB ATy M8X25 3
34 | NNCOS FAarFy b AT MS 3
35 |0328581000 HH% (B) 6
36 | 155063000M YaAfr hAR—KCP 1
37 | 1397531004 777> hCP 2
38 | BZ12030 ALk 8.8 M12X30 4
39 [ WsAl2 NEXPFHX 33d7 M1 2 4
40 | WRA12 eIV TR M1 2 4
41 | 1453580004 AHXLRCP ;L 1
42 | 1453590004 A RCP ; R 1
43 | 114931000 |TAHZEY ;13 2
44 | 1125150000 Ty AHX ;100 2
45 | 1125140000 FY AL ;100 (AFws3VF) 2
46 | NA20 Fvh 4 2¥=2 M20 4
47 | WSA20 NEXYPH% 337 M20 4
51 |119158000M |A&—AZ4# CP 1
52 | BSZ10035 afgHZRNLE 7 M10X35 2
53 | NSZ10 afFZFyh 8 2¥=2 M1O 2
54 | WSA10 NRxYPH+x 337 M1O 2
55 | 1600540000 VYo7 2
56 | 1600550000 | 2Nw T TS 1
57 | CP04025 +FRaxyY M4 X25 6
58 | NNFO4 75V fuarFy h M4 6
59 1603271000 Z—R;3500X2600Xx1300 1
60 | 1604030000 NUH N T A 1 | A7 var
61 | 0927741000 TGV R TIIATF A 1
62 | 1460121000 TGV BA RRYHB TV ar (28) 1
63 | 0889780000 F~L 3 500~540r pm 1
64 41339080000 STAR~Y—Z7 5L ; 63 (R LYF) 1
65 | 1061640000 TV A ay 1 1
66 | 1064180000 T rAay 37 1
67 | 1064210000 T rA4 a7 40 1
69 | 1453750000 T XY AU a71200 1
70 | 1343690000 ECO~—7 1
71 | 1460130000 FYL s T L— RFa kA 1
72 | 000761100M Jyiv ;16 6
75 | 1506580004 777 hCP 1
76 | 1506590004 777 FCP 1
77 | BZ12025 ALk 8.8 M12X25 6
78 | WSA12 NRAYPHx 337 M1 2 6

-8-




MBC603WE:1203WE & JO— KX+ X4
A N VAR, ik SYVANE Ny b E SR -2 O & & R N

zs\Jg

VIEW A

AHER| W M’ B il Hi 4 i A% T =
79 | 150669000M HT—;22X22 2
80 | WCH28 YI NN Va2 M28 4
81 | WSA20 NEFH% 337 M20 2
82 10009330000 [>T ¥F :R—60CIS 2
83 0009610000 [>T ¥ F ;W—60CIS 2
84 | ILT200 Aauay T XA 4., 7TX202 10
85 | IRF250 VE—Rh¥1( 7. 4X250 3
86 | 1600840000 A & AV E Ry A 1
87 | 1601500000 T, g ay VR 1
88 | 1601510000 7Yl ; 15km,/h 1

89 | 163189000M VA -




MBC603WE-OL ®#&#JO—Kx+ X4
HAR. IS5y k. PICYUYIROLAA D)

AHER| W M’ B il i A i A% fii
2 1102241000 |HTF7—; 26X25 1
3 | 145410000M vU—=Y 74 KCP ; II 2
4 | 1454120004 777 v bk 1
5 | 1454130004 VAN 2
6 | BSZ10030 afFHZRLE 7T M10X30 4
7 | BSZ10040 afEZRLRE 7T M10X40 4
8 |NSz10 afjZFy bk 8 2= M1O 8
9 | WSA10 NAHPHX 337 M1O 8
10 | 075290100M Tvvx ;10 4
11 | JPFL207G NATZ7FvY v PFL207 2
12 | J6S207LLU 2=y hma 7Y SC207LLU 1
13 |NSZ10025 SafARLE 7T M10X25 2
14 |NSz10 a2 Fyk 8 2= M1O 2
15 |[WSA10 NxYPHx 337 M1O 2
16 | 1454170004 PICYx¥ 7 KhCP 1
17 | BSZ08020 afHRNLVE T M8X20 1
18 | NSZ08 afXFvyhk 8 2va2 MS 1

-10 -




SE-70

INT—3q(4 2k

AHER| W o’ B il Hi 4 i A% T
ASY | JSE070ASY NU—V 514k SE—70 1
1 | JSEO701ASY Yafr b AFFZ SE-70 1
2 | JSE0702ASY YaAfrh TuxrZI SE—T70 1
3 | JPYSE oY *a—2 (SE) 2
4 | JSEASY ANRAHE 73 SE AS105 2
5 | JEYSEL T4 T4 7a—2 ArF (SE) 1
6 | JSE0701 NRAT Af>F SE—-70 1
7 | JPC14ASY 7707y 73 (14) 2
8 | JSE0703 TN~ A2 SE—-70 1
9 | PS100065 Z2FY L TEY 10X65 2
10 | JFYSE2 T4 T4 7I—r TouH (SE) 1
11 | JSE0702 NAT Ty SE—70 1
12 | JSE0704 T hR— TUuH SE—T70 1

-11 -







nj
TH]

g

S—211213E

F & A t 0668555 F @ m L K #B 1 0 6 1 F #1 2
TEL 0123-26-1123
FAX 0123-26-2412

F i E XA 06685 FHmmLEE®H1 06 1 F h 2
TEL 0123-22-5131
FAX 0123-26-2035

098-4100 XIBEAMEEMF LHORY 119 1FM4 4
TEL 0162-82-1932
FAX 0162-82-1696

LB EPT 0802462 W LA 2 2%4d1TH1 2 &t 4
TEL 0155-37-3080
FAX 0155-37-5187

hiEEEER 086-1152 Z 2 M ZZHILET 2 TH16F2
TEL 0153-72-2624
FAX 0153-73-2540

FREEETAEAMTILFMRET 1#1EI120F3
TEL 0198-46-1311
FAX 0198-45-5999

MRWEMEMRTHFSTHEH2 1 — 1
TEL 022-353-6039
FAX 022-353-6040

Il E X P 3230158 #F K B /N W th 2 2 5 1 2 — 1
TEL 0285-49-1500
FAX 0285-49-1560

WA E X 4850081 BHR /N THEANFTIHG 78 — 1
TEL 0568-75-3561
FAX 0568-75-3563

= ¥ P 700-0973 MWERBMLUAIERTHFE704—103
TEL 086-243-1147
FAX 086-243-1269

e A& & ZEPFr 8618030 REAEBEAMEBER/ILAT1 6 3 9 — 1
TEL 096-389-6650
FAX 096-389-6710

W E E T 8851202 BB EMEB T ESHEEEL 1003 -2
TEL 0986-53-2222
FAX 0986-53-2233

Hlge
Ho}
1113
e
3

1t & 8 ¥ Fr 028-3172

i3

it
m

W& & % Fr 984-0032

w. 03.12.2S ®



